[ Efficiency vs vertpos |

— 0.5:
C0.45F
@ E
> 04F
Q F
& 0.35F
S E
5 0.35— !
0.25( :
0.22—.'. ---------- P E RCLR SRERLTIRS
0.15% TR S SR S
110 T M -
ETOTEE
0.05f- 1 f‘rﬂ#ﬂ p
E AR [
o 05 :
Ts’ E. T B =l ,..0 ..............
g i £
1?'- 1=} it g S - -
0.9;—0:' =17 = 4 IO
0.8k S :
1072 107 1 10 0?
TP vertr(cr%)
—— DQM MKFT_TTorngmal
T . BTG iz
@ —_— DQM_mkFit_TTNEE\JNMS-genMatch-chi200

~ 0.1
20.09
n
>0.08
>
2
90'07
3]
£ 0.06
(]
0.05]
0.04
0.03
0.02
0.01

0.95

0.9

: b : il i
30 -20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2
> o
a0.18
c o
7 0.16
20.14
>

o
o ¢
[¢5]
T

Sim. PV z (cm)



	Contents
	Page 1


